Sr Questions Answers Choice
A (1-1)
+
1 If x=1-t2 and y =3t2- 213 then dy/dx = E‘_ %((:1?
D. 3/1-t
2 Question Image |
A. -2x
3 Question Image . B. x<sup>-3</sup>
D. -2x<sup>3</sup>
A. mx
B. xXm
4 If y=x"then dy/dx equals: C. mx<sup>m-1</sup>
D. xm<sup>m-1</sup>
A. 2x
: B. x/2
5 Question Image | C. 2x<sup>3</sup>
D. x<sup>3</sup>/2
A -1/4
6 IF(x) = 1/x-2 then$1(0) equals: (B:" '?;’,%
D. 1/5
A. 100
B. -1
7 IF5(x) = x 190the value off1 (1) is: c.o o0
D. -101
8 Question Image |
A 2
9 $(x) = ax2-3x-5, and$1 (2) = 9, a is equal to g :_)’2
D. 4
10 Question Image \
A. zero at x
. B. differentiable at x
" Question Image | C. continuous at x
D. none of these
12 Question Image |
A. zero at x
. B. Diff iabl
13 if x& Df and (X eXsts, theng s sajd to be C. CL)r?triﬁEgig ;a): ‘
D. None of these
A. <div>-1/2</div>
_ _ B. -4/3
14 If 3x+ 4y +7 =0, then dy / dx = C. 712
D.-3/4
15 Question Image " D. None of these
16 Question Image \
A. 100
. B.-100
17 Question Image | co
D.-101
A 1/2?/
A . B.2/+a
18 The derivative ofVx at x =a is: C.2%
D.1/2Vx

19 Question Image |
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didx(3 + 2x +3)=

Question Image

d/dx [tan2 X]

fy = (7x + 9)2, then dy/dx equals:

Question Image

Question Image

If x2 + y2 =1, then dy/dx

Question Image

Question Image

Question Image

Question Image

d/dx (cosec x)

Question Image

Question Image

Question Image

Question Image

If y = 3 x + 2cos x, then dy/dx =

If y = x"then dy/dx equals:

Question Image

d/dx (cos x2) =

If f(x) = ¢ then1(x) equals:

A. x<sup>2 </sup>+ 2
B.3x+2
C. 3x<sup>2 </sup>+5

A. mx
B. ¥'m

D. xm<sup>m-1</sup>

B. 2tan x sec x

C. 2 cot xtan x

D. 2sec<sup>2</sup> x
Ccos<sup>2</sup> x

B. 14x
C. 14x+18
D. 14x+81

. X<sup>2</sup>+ 2
3x+2
. 3x<sup>2</sup>+5

ow>

A. y/x

C1/x
. None of these

joXe]

. 1/8

D. 2/3

ow»
w1 00 O

. -sec x tan x
. Sin X cos X

w >

D. 2sin x cos x

. CX

oo

. 3-t sin x
. 3(1-4 sin x)

nx

. X<sup>n-1</sup>

UOw > 0UOW

n

. -2X COS X

-2xtan x

1

CX
C

oow» DowP

. 3x<sup>2</sup> - 2sin x

. -2X sec<sup>2</sup> x
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Question Image

Question Image

If5(x) = 263 + 1 thenf1(0) =

Question Image

d/dx (cos x sin x) =

Differentiation of sin x w.r.t. cot x is:

d/dx(cot x) =

If £(x) = x23thenf1(x) at x = 8 equals:

Question Image

Let/ be real valued function continuous in the interval (xx4)< D (the domain of]),
thenf(xq) -f (x)/x4-x represents:

If ¢ is a constant, then d/dx (c) =

Question Image

IFf(x) = x2 + x3 + x the value off1(1) is:

If y = 1/x2 then dy/dx equals:

if y=x2 then dy/dx equals:

If x = at and y = 2at then dy/dx =

The derivative of 1/xM is:

ff(x) = ¢ thens 1 (0 equals:

Question Image

B. x<sup>n-1</sup>

B. 1
C.6
D. None of these

A. cos<sup>2</sup> X -
sin<sup>2</sup> x

C. 2cos<sup>2</sup> x -
sin<sup>2</sup> x
D. 1 - sin<sup>2 </sup>x

A. -sin<sup>2</sup> x sec x

. -sin<sup>2</sup> x
Sec x tan x

. Sec<sup>2</sup> x
. 1/cot<sup>2</sup> x

8
1/8

UOwW> UOwWP U0

2/3

A. Instantaneous rate

. Differential coefficient
None of these

oo

oow
K

ow>
o ™o

-2X
. X<sup>-3</sup>

w >

D. -2x<sup>3</sup>

X2
. 2x<sup>3</sup>
. X<sup>3</sup>/2

o0Ow

. yl2a
.-al2y
. -2yla

ooOw

. X<sup>m+1</sup>/ m
. m(x)<sup>m-1</sup>
. (m-1) x<sup>-m</sup>

oOw>

CX

oo

. -COS<sup>2</sup> x tan x



